/

T Rios Lo 2 ¥vre Codvocdors  ou & > Eas
Rid A B B
Voo Cosk Foso.sso  F e, suo
Av«\w\»—o& Q\uxc;\nu (ol ?VZ,GYTD * g\, 680
Usehud A¢ &L 10 yrexs (D ypows
L= gt

Dyous coan ﬂm% L Compone- Liols boued o o

COMAW\Scm OQ, tbkc—& DVQM»JV xragvu’b ®>¥§

NS A o  z 2 4 ---4 ‘7
B éwu“\lz d % !7,}' Lo
k¢ 'z
'P\JA = *'ZG'O,mm — [ 26570 [ehfi S{.; )12, oo (P\F,S"“,Z\
- - —iz,evo (ele, ¢l o)
=Y -
PUp o ~Ll&B oo — 47/0‘73‘0 ){PA <, ) _,\
= -~ 20 &7D = 120\313 (H«\ -\
Z— R X
z - 26D 500 —l20o0 (‘? gwa)
= }Zﬁl)oﬁz.’
(- 240,00 ~amare (2 cr9n)
-t coma
= ——$30\)?>¢;§
PV, > Py,
[ad [ )

= C\/a/\/OOIZQ, ) A\a




Polytechnic

UNIVERSITY

PRESENT/FUTURE WORTH & UNIFORM /
GRADIENT SERIES (EXAMPLES)

Example 1:
— Suppose that a $20,000 piece of equipment is expected to
last 5 years and then result in a $4,000 salvage value. If the
‘minimum attractive rate of return (interest rate) is 15%,
what are the following values?
* Annual equivalent (cost)
* Present equivalent (cost)

Example 2:

replaced 3 tumes with identical equipment; making 4 life
cycles of 5 years each. To compare this investment
correctly with another alternative that can serve 20 years,
what are the following values when MARR=15%?

« Annual equivalent (cost)

* Present equivalent (cost)

CE 825 Project Management for Construction
Fall 1998
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